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P 100kN/m%#25| 1.00| 000 ~ 027 10396 |3mx#Bz25| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 11.45 ~ 1237 10396 |3mZE#BZ5b - ~ — — —
FhLst 1.00 |1 027 ~ 805 100.00 | #hst | 000 ~ 805| 2.00 10.12 st 1.00 | 600 ~ 1145 100.00 | #hsy | 6.00 ~ 1237 2.00 10.12
2 100kN/m%E#B25 | 1.00| 000 ~ 1.79| 12743 |3mZz#B25| — ~ — — — | 100kN/mM%E#z25% | 1.00 | 1053 ~ 1694 12743 |3mE#BZD - ~ — — —
Thilst 1001179 ~ 957 100.00| #nLS | 000 ~ 957|237 11.96 Thilst 1.00 ] 5600 ~ 1053 100.00 | FnLS | 6.00 ~ 1694 2.37 11.96
3 100kN/m%E#B25 | 1.00| 000 ~ 1.79| 12743 |3mZz#B25| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 1053 ~ 1694 12743 |3mE#BZD - ~ — — —
Thilst 1001179 ~ 957 100.00| #nLS | 000 ~ 957|237 11.96 Thilst 1.00 ] 56.00 ~ 1053 100.00| FnLS | 6.00 ~ 1694 2.37 11.96
4 100kN/m%E#8z5| 1.00 | 000 ~ 1.73| 126563 |3mZz#Bz5| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1068 ~ 1659 126.563 |3mE#BZD - ~ — — —
s 1.00 | 1.73 ~ 9562 100.00 | =nLSY | 0.00 ~ 952|247 12.49 s 1.00 | 5.00 ~ 1068 100.00 | =nhst | 6,00 ~ 1659| 2.47 12.49
5 100kN/m%E#8z5 | 1.00 | 000 ~ 1.48| 122566 |3mZz#Bz3| — ~ — — — | 100kN/mMZ&#z25 | 1.00 | 1054 ~ 1558 122566 |3mE#BZD - ~ — — —
s 1.00 | 1.48 ~ 927 100.00 | #nLsy | 000 ~ 927|235 11.86 ThList 1.00 | 5.00 ~ 1054 100.00 | =hst | 6.00 ~ 1558 2.35 11.86
6 100kN/m%#8z5 | 1.00 | 000 ~ 1.25| 11897 |3mZz#Bz3| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 1088 ~ 1550 11897 |3mE#BZ5b - ~ — — —
FhLst 100|125 ~ 9.04 100.00 | =05t | 000 ~ 9.04 | 2.24 11.35 FhLst 1.00 | 6.00 ~ 1088 100.00| FnLS | 6.00 ~ 1550 | 2.24 11.35
7 100kN/m%E 25| 1.00 | 000 ~ 201 131.08 |3mZ&i#BRB| — ~ — — — | 100kN/m%x#%25 | 1.00 | 1099 ~ 1842 131.08 |3mZE#BZ5b - ~ — — —
FhLst 1.00 | 201 ~ 9.80 100.00 | #hst | 000 ~ 9.80| 2.565 12.88 zhLst 1.00 | 6.00 ~ 10.99 100.00 | =hst | 6,00 ~ 1842 2.55 12.88
P 100kN/m%E#B25| 1.00| 000 ~ 1.63| 12486 |3mZE#BzB| — ~ — — — | 100kN/m%E#%25 | 1.00 | 1095 ~ 1646 124.86 |3mE#BZ5 - ~ — — —
FhLst 100 | 1.63 ~ 941 100.00 | =05t | 000 ~ 941 | 2.564 12.83 FhLst 1.00 | 6.00 ~ 1095 100.00 | FnLS | 6.00 ~ 1646 | 2.64 12.83
9 100kN/m%#8Z%5 | 1.00 | 000 ~ 337 | 1564.11 |3mZE#BZB| 000 ~ 050 | 3.28 16.568 | 100kN/miz#825 | 1.00 | 1067 ~ 3016 154.11 |3mZE#z2 3| 2500 ~ 30.16| 3.28 16.58
s 1.00 | 887 ~ 1115 100.00 | #FhLS | 050 ~ 1115 3.00 15.16 s 1.00 | 6.00 ~ 1067 100.00 | =nLst | 6.00 ~ 2500 3.00 15.16
10 100kN/m%E#8z5 | 1.00 | 000 ~ 268 14215 |3mZz#BZ3| — ~ — — — | 100kN/m%#BZ% | .00 | 1064 ~ 2233 142.15 |3m%E#BZ5 - ~ — — —
s 1.00 | 268 ~ 1046 100.00 | #nLs | 000 ~ 1046 2.80 14.17 s 1.00 | 5.00 ~ 1064 100.00 | =nst | 6.00 ~ 2233 2.80 14.17
11 100kN/m%E#8z5 | 1.00 | 000 ~ 1.46| 12227 |3mZz#Bz3| — ~ — — — | 100kN/m%#8Z2% | .00 | 11.11 ~ 1728 122.27 |3m%E#Bz25% - ~ — — —
Thilst 100|146 ~ 925 100.00| #nbS | 000 ~ 925|221 11.18 Thilst 1.00 | 5.00 ~ 1111 100.00 | =hst | 5.00 ~ 1728| 2.21 11.18
19 100kN/m%E 25| 1.00 | 000 ~ 0.71 110.58 |3mZEi#BAB| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 11.96 ~ 1497 110.58 |3mZE#BZ5 - ~ — — —
Thilst 1001071 ~ 849 100.00 | #nLS | 000 ~ 849| 1.97 9.94 Thilst 1.00 ] 5600 ~ 11.96| 100.00 | FnLS | 6.00 ~ 14.97| 1.97 9.94
13 100kN/m%E#B25 | 1.00| 000 ~ 1.57| 12394 |3mZEB2B| — ~ — — — | 100kN/m%E#%25 | 1.00 | 1087 ~ 1716 12394 |3mE#BZD - ~ — — —
FhLst 1.00 | 1.67 ~ 9.35 100.00 | #nllst | 000 ~ 935 | 2.25 11.35 ThLst 1.00 | 6.00 ~ 1087 100.00| FnLs | 6.00 ~ 1716 2.25 11.35
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




